N = 0l & AF & F Al A
20118 S =& 2 3 LESH JI=lZAa ~ D=2 At

R HPIEEIN

HE: NUE o 2l
ol RHFEO J|E £ (Erol: &2
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 713 o HRE2
JIE 2 AR 7,829,764 7,728,358 101,406
= 84,490 0 84,490
= 4,000 4,000 0
£ 84,490 0 84,490
S 2,968 0 2,968
= 7,653,816 7,724,358 AT0,542
Regss oz 25t 568,671 545,903 22,968
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= 4,000 4,000 0
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PHALEI L 24 72,800 52,800 20,000
308 A 58,800 38,800 20,000
01 Z&a3 58,800 38,800 20,000
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HE 2 SHYER 176,131 173,163 2,968
S 2,968 0 2,968
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S 2,968 0 2,968
101 el 24| 2,968 0 2,968
= 2,968 0 2,968
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O M2 EAH ZAE 12 2,968,000& 14 2,968 0 2,968
= 2,968 0 2,968
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THEEYR FA 611,218 599,780 11,438
asHo 2HEE 611,218 599,780 11,438
101 Q14| 11,438 0 11,438
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202 Oddl 520,000 620,000 100,000
04 =Xs0dbl 100,000 200,000 A 100,000
O o2 Ch2aHA ol
Z & 100,000,000& 100,000 200,000 100,000
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801 0ildldl 4,618,769 4,493,769 125,000
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